Puzzle 11371 - Thursday, 27 August, 2015 - Difficulty 10

"1 u4 20 1 19 |
5|6 (1|37 8|4|9]|2
’2’1”’”:::,‘ éffjij,ffffff, i’éf::::,ff:::,: 52 ””” | :
9 1 4/2|6 115|387
:’2’7’111 :::,: ’éjiii,ff:j;} ;’4’”’ ffffjf,: | i i |
817 |3|4|2(9|56:1
1’5’:" ; : i’{iiiffff:,} ’2’9”” ffffjf,: i ,,,,,,,,,,,,
69 |8]7|4]2]1)5]|3
et T 61T 7
3f1|7]|8|5|6|9(2|4
: {’9’::: fff:::,:’ B 1’6 ——— ’2’0’,’ — :
412 |5}1]9(3|[8/|7|6
:1’3’,’” : ‘ ié’:”ffffff, ‘é,iiiii::iii ‘ ’2’?;:11
718|496 |1]213]|5
3 ,iiiiii} 3’1’:: ,’,’,’,’,’,’{’2’2’1" ;’3’”’ ffffff,:‘ i} i
11519 ]2)3]7]6]4]8,
5 | i1 D D T R
2|3]6]5]8|4]7]1]9

Copyright (c) www.dailykillersudoku.com



